CBSE Class 12 Economics Compartment Question Paper 2017 (July 17, Set 3- 58/1/3)
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Candidates must write the Code on
the title page of the answer-book.
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® TI-UH H Glig- 81 <hl TR TGU 1T hIg FrI <hl BT It - TRl o JE-T53 T o7 |
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e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

e Please write down the Serial Number of the question before attempting it.

e |5 minute time has been allotted to read this question paper. The question paper will be
distributed-at-10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

ECONOMICS

fFeTRa @ - 3 g2 3¢ aq 3% - 100
Time allowed : 3 hours Maximum Marks : 100
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(i) @l @Sl & Gt g9 AT & |
(ii)  JAP J97 & GTH7 37% 3F VT T3 3 /

(iii) o7 G&IT1 — 5 37 16 — 20 377 TG 3T 97 8, I4% 971 37 BT & | T F571 &
I UE JIFTH T8 /
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(iv) F¥7 G&IT6 — 8 3K 21 — 23 T IR J97 &, I4% 97 3 37 BT & | T4 J71 & I
GIHT=IT: 60 J5g] & 371 7 &7 |

(v) T GEITY9 - 11 37K 24 — 26 I5 41 TG IR1T I97 &, I 4% 97 & 4 3% & | gt g1
& I GIFId: 70 el & 315 T & /

vi) FT GEIT12 - 15 3K 27— 30 &5 3TOT 97 8, J9F T3 & 6 3% & | T Jo71 &
I GIHI: 100 Y1) G 3715 T &7 |

(vii) ITIH o1 @& I TIGTT TF T &17 FNeT 97 JITTH GR35 TIHT & Hik
IR 16T STTT 18T /

General Instructions :

(i)  All questions in both sections are compulsory.
(ii) Marks for questions are indicated against each question.

(iii) Questions number 1 — 5 and 16 — 20 are very short answer questions carrying

1 mark each. They are required to be answered in one sentence.

(iv) Questions number 6 — 8 and 21 — 23 are short answer questions carrying

3 marks-each. Answers to them should not normally exceed 60 words each.

(v) Questions number 9 — 11 and 24 — 26 are also short answer questions carrying

4 marks each. Answers to them should not normally exceed 70 words each.

(vi) Questions number 12 — 15 and 27 — 30 are long answer questions carrying 6 marks

each. Answers to them should not normally exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limit be adhered to as

far as possible.

Wug — 3H
Section — A

. ThY JhR ok STSTR H Ush BH ohl shiHd T Iheh hal ST & 7 1

Under which form of market a firm 1s called price taker ?

2. Tordl a%q ol giea 9] he AATITAT & ? 1

When 1s a good considered an inferior good *?
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3. 37Hd I (FEITH) $6eh 99 & : (F&! faehed gm)
(A) T IATTH i pol IATGH d T AT
(B) hiad
(C) (A) 3R (B) T
(D) 3I9URH H Y ls T8l 1

Average revenue equals : (Choose the correct alternative)
(A) Total revenue divided by the quantity produced.
(B) Price

(C) Both (A) and (B)

(D) None of the above

4.  3cTed B <hl THHTST EHalu | 1

Define production function.

5. Weh YUl UM BH ohl T TTREd b1 HTHAT i1 USdl & : (Hal feehed FHT)
(A) TR $Himq
(B) R 3¥d ATH (T71H)
(C) TR HHTd 3T (FFITH )
(D) 3I9URL @+ 1

A pertectly competitive firm faces : (Choose the correct alternative)

(A) Constant price
(B) Constant average revenue

(C) Constant marginal revenue

(D) All the above

6. HohIIcHh ITUTME 3T 3ATeIh UIMTE b S dL Fd18U | Tceh hl Ueh-Tdh IcTal

QST | 3
COCH
T YT 3T TS UM o &g 3T TdT3T | Toh bl Teh—Teh IV GIT |
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Distinguish between positive economics and normative economics. Give an example

of each.
OR

Distinguish between micro-economics and macro-economics. Give an example of

each.

7. IcqTe YT 9%k §1¢ 4 26 i i 3T eotd! a1 gldT 8 ? TUeey | 3

Why does a production possibility curve slope downwards from left to right ? Explain.

8. & Ush g% ohl shiHd S0 JfcsTd gl &, df 3qehl AN 60 TTIRd 96 AT & | Iqeh! shidd
T A o1 TRehed hilT | 3

When price of a good falls by 50 percent, 1ts demand rises by 60 percent. Calculate 1ts

price elasticity of demand.

9.  Tsh %] <hl _Yid 4 Jig’ h Tl I LU shl SAREAT hIMT | 4

Explamn any two causes of ‘increase in supply’ of a commodity.

10. EHTA RG-S I 3T (FEH) fofer g 3cred &1 e T 1d e | 3794

3T oh o1 RIL0T ST | 4
hHd | I | HeA @RI T ST
R) EHTS) R) ®)
10 | 10 10
10 2 19 9
10 3 26 7
10 4 36 10
10 5 48 12
37al
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Uierd 37Tl b 41 o o9 TN bl I&=H hIT | ShI0T GHT |

Ol e | et IcTg
(35T3) (35T3)
| 5
2 11
3 15
4 17
5 15

Identity the equilibrium level of output using “marginal cost and marginal revenue”

approach. Give reasons for your answer.

Price Output | Total Cost | Marginal Cost
®) (Units) R) )
10 1 10 10
10 2 19 9
10 3 26 7
10 4 36 10
10 > 48 12
OR

Identify the three phases of the law of variable proportions. Give reasons.

Variable Input | Total Product
(Units) (Units)
1 S
2 11
3 15
! 17
R 15

1. <o 84 %ad & fh Ueh TR SR 8 & qerd et 21l 2, a1 398 IR 9 39T 37a%
USdr g ? Uy |

What difference does i1t make to the market when we say that firms are
interdependent 1n oligopoly ? Explain.
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12. U 3 B foh o%q X W aome @41 U o TUH T 3Tehell TTad “aEq SR T4
(GST) @HTH & o X T et ST hThl hH &l FIET | §8h &g X <6l e 3 AT T
T ATt THTE <hl @ THEHTST, | [T 1 FAT HIT | 6

It 1s expected that replacement of all existing taxes on good X by the proposed single
Goods and Services Tax (GST) will bring down overall tax on good X substantially.

Explain 1its likely chain of effects on price and quantity of good X. Use diagram.

et YA TSR o foTg e T 12 % W T

Vet 3Tre 2 foh g X W SdHE wuft i o T W SeheT T g S Ha 0
(GST) & & 9% X T HeA i hIthl hH &l STRATT | $8eh a&] X hl shifd T AT T
U ATt T <hl SGeAT FHSATSY, | ATicTehl <hT TN ShIfT |

For the blind candidates in lieu of Q. No. 12

It 1s expected that replacement of all existing taxes on good X by the proposed single

Goods and Services Tax (GST) will bring down overall tax on good X substantially.

Explain 1ts likely chain of effects on price and quantity of good X. Use a schedule.

13. T IUHRHI hdel G a3l X AR Y 1 IUHRT Hdl & | TG TN faeeisor gr
U] i bl Iidl &1 ST HIT | 6

A consumer-consumes only two goods X and Y. Explain the conditions of

consumer’s equilibrium using Marginal Utility Analysis.

4. T A Hh3~eZ 3104 gl WHcd o JAMHA T 3T 39! F=d a9 HL oi@l 9 IE
AT 2 | 39 3e94 U 98 HERhI hl Yk LAl & | 3TH Y R I I8 ST Hebdd ATl
T AT 3R SAAHIEd AT FdT8Y | 39 3T o 1T SR ST | 6

A chartered accountant starts accounting services in the office owned by him and by
investing his own savings. He employs assistants for this purpose. What are explicit

costs and implicit costs directly 1dentifiable 1n 1t ? Give reason for your answer.
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15. &9 T 3T IHREE I3k bl IiHm™T difoe | I8 ot gwenst fos g1 oW 8 i = <h
ARCAd T B & 7 6

SR

() oI {1 Hief T =1 il & ? THSATST |

(W) ITAIYHE 95h 39 1 glaT g ? GHEATST |

Define budget line and indifference curve. Also explain why the two are downward

sloping from left to right ?

OR
(a) Why 1s budget line a straight line ? Explain.

(b) Why i1s indifference curve convex ? Explain.

gig —

Section — B

16. WA H TEId Ueh hra- foce H fd T il & SUR el & | YR o YITaH dded @rd
Y Ig TG hd Gl b1 ATl & 7 (Fal faehed FHT)

(A) S @I  shige (credit) 98T
(B) <ol @Td % sfae (debit) g d

(C) YsihTd @Wid ek shise (credit) g g

(D) YsihTd @Td o sfere (debit) g&a d 1

A company located 1n India receives a loan from a company located abroad. How 1s
this transaction recorded 1n India’s balance of payments account ? (Choose the

correct alternative)

(A) Credit side of current account
(B) Debit side of current account
(C) Credit side of capital account

(D) Debit side of capital account
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17.

o H fereeft geramd A % : (@ ferehed o)

(A) 3TTIeh & HT WA & |

(B) HNTifcTeh &1 1 {TT % |

(C) (A) 3R (B) THI T T2 |

(D) 3UURh 4 ¥ Topdlt 1 Wit AT 81 8 | 1

Foreign embassies 1n India are a part of India’s : (Choose the correct alternative)
(A) Economic territory

(B) Geographical territory

(C) Both (A) and (B)

(D) None of the above

18. Hifgeh Tehel Tie] 3cdTg d o~IT AU & 7 1

What 1s meant by Nominal Gross Domestic Product ?

19. TSRS HTE1 38k §HH 2 : (Tl faehed gfm)

(A) STUHS HEl — TS YIAH

(B) SAHeh =1CT+ AT YA

(C) el &3 3T — A T1e TIHAl
(D) 39 § 9 hls H T2 1

Fiscal deficit equals : (Choose the correct alternative)

(A) Primary deficit minus interest payments

(B) Primary deficit plus interest payments

(C) Total budget expenditure minus total budget receipts
(D) None of the above

20.

S8/1/3

R §97¢ H TS ITTH & &I 3T & 7 1

What 1s meant by revenue receipt in a Government Budget ?
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21. <hIUT ¢oht SATST Tob FTTREd o E1Y TSI AT HI9d HYI =1 SFFaR [T 1Al &
(i) Uh ATh gII R @iie &q 5o § foTT T K01 9T ST T |
(i) o & Tt I AR g 631 T =29 |
(iii) IcATE TS o ToTu Hefi Wil W= | 3

G1ving reason state how are the following treated 1n estimation of national income.

(1) Payment of interest by an individual to a bank on a loan to buy a car.
(1) Expenditure by government on providing free educational services.

(111) Expenditure on purchasing a machine installed 1n a production unit.

22. Weh = oh JHTIRIG HY R JATY A9 o &= I §dTsC | $9H § i 91 TP AT
LT o6 T9gTd &1 STTUR R 7 3

AT
FHIHd IUNIT Yol 3R 3HHd s=d Y o 1= 3T IdT3C | GH1 b o< T H99 3 ¢

Distinguish between ex-ante measure and ex-post measure of a variable. Which of the

two forms the basis of the theory of national income determination ?
OR

Distinguish between average propensity to consume and average propensity to save.
What 1s the relation between the two ?

23.  Fic HHT= 39T ST 0.9 &, dl HaIsT 707eh o Ho bl iehatd hifT | 3

If marginal propensity to consume 1s 0.9, calculate the value of investment multiplier.

24, HH AINT q&Th o TN G YTdaY T 63T STd1 8 | 36T (3h) Hehel B 3G 3N
(@) o191 W IS el GHTIad THTET bl SITEHT ehiTarg | 4

AT

3T b Toaor H STHMAIST | Jig € FHTSl o hedTv] T a1 I9E Sl & ? THesy |

Suppose a ban 1s imposed on consumption of tobacco. Examine 1ts likely effects on
(a) gross domestic product and (b) welfare.

OR

How does increase in inequalities in distribution of mmcome aftect welfare of the
society ? Explain.
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25. 3t Tafess Rfea MY 31umd 0.2 & 3R 98 ™I 5,000 B, f SIS sehl gRT g
g hl TishdT GHEATST | 4

It Legal Reserve Ratio 1s 0.2 and new deposits are < 5,000, explain the process of

money creation by commercial banks.

26. HgT ATYfd H HH A H W™ 1 (TIELE &) i {HhT THST | 4

Explain the role of Repo Rate 1in reducing money supply.

27. Taceft fafaa= st 91 o o |idl sl 3TR 38! Ifd @ o9 |ldl sl ST hiTaT | 6

Explain three sources of demand for foreign exchange and three sources of supply of

foreign exchange.

28. HHU HIT 3R 9T Yd Ty g0 TSR A Iqo S &l IR 99ssy | {@iras ol
STANT ST | I8 it FHSST fh I THU AT eI YA A FA B Al SR RN IME BT | 6

Explain determination of equilibrium level of national income using aggregate
demand and aggregate supply approach. Use diagram. Also explain the effect when
aggregate demand-1sless than aggregate supply.

hadl GIERM TUETIAT o TOTT J9H &A1 28 o WM W

For blind candidates in lieu of Q. No. 28.

YU |/ 3T 9T Yfd 9 =1 IR g 7 Aie THT 7O AR 59U Yfd h1 Hagr fedm m=

&1, 1 Teh FYSTTEYT 1 Ut hel BT ? IC HHT HIT GHY Y[l § HH &I I FAT B8 7
NEEIE 6

What 1s meant by aggregate demand and aggregate supply ? Given aggregate demand
and aggregate supply behaviour, when 1s an economy 1n equilibrium ? What happens

when aggregate demand 1s less than aggregate supply ? Explain.
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29.  ‘ISAAT ASHT o A TR T @ o = T84 a1t IRaRT sl god T d.si. Wis
T SdH ¢ Wl 8 | TR §91¢ o H1H § TR hiH T 368 TU i ol T L &l
2 3R ? AT | 6

AT

HHTEU Tohd Toh TXhT S9i¢ H hil, o3 3T 311k Tgr™Idl < HISIH H TETUHT 6

TS I THTId ThaT ST dhdT & |

The Government, under Ujjwala Yojana, 1s providing free LPG kitchen gas
connections to the families ‘below the poverty line’. What objective the government

1s trying to fulfil through the government budget and how ? Explain.

OR

Explain how the allocation of resources can be influenced in the government budget

through taxes, expenditure and subsidies.

30. (%) HS1.319 3R (@) SR Ad W Had TS 371 ol TRehaid ehilafy ; 6
R HTS)

(1) FLeRTL H-UTH =ITe] F&Tal 20

(ii) LI TRITEeh T shl IR 3T A8 | 919 3™ 10

(iii) S fheh TS 3T 400

(iv) ShAT T II&T i 70

(V) Tsft e &= <ht gl 31 30

(Vi) TR -TaUTiT 3THI ! §9d 20

(vii) 31 GSil ohl 3UYIT 50

(vii) {779 19 30

(ix) Y R0 WS 40

(%) 9y Targa hi Haet =Te] &aratun (-) 10
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S8/1/3

Calculate (a) Private Income and (b) Net National Product at Market Price :

(1)
(11)

(iii)
(1v)
(V)
(V1)
(vii)
(viii)
(1x)
(X)

(X crore)

Current transfers from Government 20
Property and entrepreneurial income of the Government 10
Administrative Departments

Personal disposable income 400
Direct taxes on persons 70
Retained earnings of Private Corporate Sector 30
Savings of non-departmental enterprises 20
Consumption of fixed capital 50
Corporate profit tax 80
National debt interest 40
Net current transfers to rest of the world (—) 10
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